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gobooboboobooebOOobOOOoooboOoOoon
obooooboobobooboboboobooooo
oboboobooobobooobooboobobooboooo
gobobooooooboooooboboooooooooon
gbooooobooboooboobobooog

24.3 0OO00OO0O0OO0OOOODOOOOOOO

oboooooboobooboooooooooooboon
oboboobooboobogo9nb 230000000d
gbobooobooboobooboboooboooooo
oboooooooooboboooooboboooog
oboooobooboboobooboooobo 110000
00000000000 D0000 20[deg) 00000
gbooooobooooooboboooooboooboo
oboooooooboooooboboooooooog
ooo

011 000000000000

oo good oo oo
[min] 0000 | [deg]

ao 180 350 6.7 -3.96 86.3
ooo (190160 4.8 -2.20 29.8
ooo | 180210 6.4 -3.90 63.7
ooo (190020 5.9 -2.85 43.5
ooo | 18goro 5.9 -3.51 44.5

ooo | 180 140 6.5 -3.5 63
ooo | 170530 4.9 -3.06 -42.0
190 300 2.5 -1.67 55.0

gboooobooboboooobooboboban
ooboooboooo34boooboooboooooo
00 20[deg] DODOOO0OOOO0OOOOODOODODOOOO
gboobooboobooooboobooboboon
gbooooobobooooobobooooobooog
obooboobooooboobobobooboboobooon
gooooooooooboooooobooobobooog
gboboobooboooooooboooboobogo
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oboooobooboboobobooboboboon
obooooooobobooooobobobooboboog
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03:00000000000D00000O0

gbobogbobooobooboobooboabbob
gboboboboobooooboobooooooboooon
gbooooooboboobooobobooboooooo
gbobogbobooobooboobooboabbob
gbobooboaboabooboabooaobobob
gbooobz2000000000000000000
gobobooooooboooooboooooobooag
goboobooooboobuooobbooooboobobooa
gbobgboboobooboobooboabobab
gboobooboobooooboobobooooona
gbooooooboboobooobooobooboooo
gboboooboobbooboobaabooabod
gobboooooooboooobobooobooan
gboooobooboboooboobobooooona
gobooboobbobooobooboaoo

2.6 UOOOOO

00000000000 o00ooooooDUO 60fkm]
0000000000000000000 420km] O
0000000000000 00000 +1.6[deg) O
oobo0O12000000000000000D0000
oboboboobooobooobooboboobo11oo00oo0o
gbooooooboooboboooooobooobogaon
goooo

14

012000000

od 00 [deg] od
STTOODOOOO 0.1 oood
ogoooood 0.3 good
oooo
oooooo 0.2 ooooooogo
oooooood
oood 0.2 STTOOOO
GpSOOODOOO
good 0.05 good
ogoooood
oo 0.85 Linear Sum
2.7 0O0O0OO

gbogoboobooboboobobooboaoooan
gbooboguobogboobobooboboobad
gbooooobooboooboboooooboooboo
gaogboooobbooobobooobbooabooo
gbobobobobbobboobboobobbaoboa
gbooooooboboobooooboooooon
gbobooboooobooboobooooooboooon
ggbooooobobooobbooobobooaon
gogboooboobboobobooobooboanoo
gbooooboboooobooboooog

gbooooboboooobooboboooooon
gboogoboooobobooboooabaon
gobogooaoo

goooooooobboobbooooooooooo
gbooooooboboooboboboboobooon
ggbobooobobooobobobooboooboogaa
gogboooboobbooobobooobooboooo
gbooboobobOooobooobobobobooobooog
gogbooooobobooboooboooboaboanoo
gogboooboboobbooobboaobooboaoo
gbooobooboboooooboboooooboaon
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3.1 0OO0O0O

0000000000480 x 480 300mm] 000
gboooooobobooooboboooobooog
ooboboooooobooobobobbooooobooboooo
oboooooboobobooooooboobooooon
gboooooobobooooboboooobooog
gbooooobooboooobooboboooooan
obooooboobobooobobooooooobo
oboooooooboboboooobobobobgoo
gbobooooboobooobooobooboboaong
gbobooooobobooboboboooooong
obooooboobobobooobooboobooobo
oboooooboobobooooboooboobooooon
gbooooobooobooooobobooooooog
oboooobobooooooboboboooog
oboooobooboobobobooooobooobgon
gbooooboobooooboobooboboon
gboooooboo

e00ODOO
0000000000000000
000480 x 480 x 10 [mm]

e 00DDO
000000D0000000000
000480 % 300 10 [mm]

ooooo
0000000000000000
00 0300x 300 10 [mm)

e 00DDO
00O CFRP
000480 % 450 x 2 [mm]

afufuislslufsls
000AIDO 2024-T3
00000 20(mm] 0000

e 0000DO0ODO0DOO
0000000000000000
0D00300x 300 10[mm]

ooooo
0O0D0AIDO 7075-T6
00D0¢225x% 50 00 5 [mm]

gboooooobooooooboboooooboooboo
gboo3003roanon

03: 0000 @o0ooon)

" Ty

Y

0370000 (@Oo00Oo0)
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3.2 0000

3.2.1 OUOO0O0O4OO0OOOOoOOaoOn

gbooooboobooboboobooobooboan
gbobobooobooboboobooboobooboooon
obooobooooboobobooooboboon
oboooooboob 1300000000000 140
goo

0 13:00000000000000D000

oo 00 [mm]
goooooo AlO O A2024-T3 0.25
ooooon Al 1/8-5052-.001 9.5

0140000000000

OOCOO0OODO A2024-T3

00 [kg/m?] 2770
00000 [GPa] | 72.398
0000000 [GPa) | 27.6
goooon 0.33
0000 [MPa) 324.1
0000 [MPal 268.9
000000 Al 1/8-5052-.001
00 [kg/m?] 72
00000 [MPal 2.4
0000000 [GPa] | 0.44

3.2.2 0OU0O0O0OO

000000000 AlO0O A7075-T6e0 00000
OooO0CO cCcrRPOOOOODOOOOOOOOOO 15
oboooboooboooboobobogo 23000 70
gbooooobooon

3.3 Uoggono

00000000000 1600000000000
3300000000000000000000000
000000000000000000000000
0000000370000000000000000
0000000000000000 Ys000000
54.7[deg] 000000 40000000000 (D 39)0
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Zp

XB

\ G

GPSTYTF)
G P S=faHk

h+x

h+z

54. 7[deg]
0 39: 4000000

0 15: A7075-T6,CFRPO O OO

A7075-T6 CFRP
0[deg] ‘ 90[deg]
00 [kg/m?] 2800 1600
00000 [GPal 71.0 343 | 5.9
0000000 [GPa] | 26.9 0
00000 0.33 0 0.35
0000 [MPa 4827 | 1862 | 294
0000 [MPa 475.8 882 0




3.4 000D

3.4.1 0ODODOOOOODOODOOOOOO

gboooobobooooboobobooooo
ooooO1voDooo

3.4.2 0OO0O0OOOO

OO0O0O0oQoO00OoOO0O FEMLEEGOOOOOOO
obooooooobbobobooboobobooooo
oooboooboobo 229000000 2880000
oo0ooooOoobDooooo40000D0

0O 40: 0000000

343 0ODODOOOO

gbooooboobobooobobooooooban
gbooooooboboboobooboooboooo
0000000000000 00 48.1Hz0 0000
0000000000000 194Hz] 0000000
b 1lvobooooboobooooooooooboog
oboboooooboboooobobonon 41,0
420000

041:. 00000000D0O0OO

34.4 0OODOODO

O 1vodoo0o0ooOooOooo 4GoOOoOooooo
ooo0oO0O0i1sGOOO0OOOOOOOOOOooOOO
1.500000000000000D00006GODOO
ooooobo 27GUoO0O000ooooobooooooDo

17

0O 42:. 00000000ODO

obooooooobobo 430000
oobooboboobooobooooobooobobooon

043: 00000

0000000000 ¢ =337MPa)0 000000
Oo000000O000O0ooOoOoooooOoO AloO
A2024-T300000 o,y =268.9Mpa] 0000000
oooMSODOOOOODO

Oc
%Y1
o

2689 )
T 337

6.98 >0

MS

oooobooboboooobooooboooooooooo

3.5 0O0O0O0O
3.5.1 0O0O0OO

obooooobooboboooobobobon
ooboboooOooooboooooobooooooooo
gboooooboobooooobobooooooog
gbobooboooobooboboboooobooobogon
ooooogo

3.5.2 0O0O0OO0OOOO

obooooooobobobooboobobooooo
ooboo.000bob00o0oooboboobooboooobooon
goo190o00d



0160000

0o | 00 [kg 00 [mm]
oooooo 0 (0O0) 3.04 460 x 460x OO 7.1
0@Ooo0)x 2 1.67x 2 | 460x 430x OO 6.3
oooooooo 6.38 O
00000 | 000000000O0x 4| 1.80x 4 115% 115% 86
OooO0O0x 3 0.75% 3 282 x 51 x 43
ooooooo 9.45 O
0000 ooooo 0.01 $35% 9
oooooo 1.10 180 x 100 x 80
0ooooo 0.09 106 x 38 x 22
OO0O0Ox 3 0.06x 3 P41 x 13
GPSOOOO 0.01 Pl5% 5
GPSOOO 0.02 70x 45% 10
oooooo 1.41 0
000 0000000x 4 0.08x 4 82x 82x 20
000 0.31 125x 81x 28
0oo 0.42 190 x 135x 22
ooooo 1.05 O
000 0000 0.10x 2 | 400x 320,0000
OoO0Ox 16 0.045x 16 $18.6 x 62.5
oooo 0.60x 2 100x 50% 5
ooooo 2.12 O
oooo oooooo 0.13 O
ooooooOo 0.33 O
MLI 0.43 O
GFRP(OOODOD) oo O
oooooo 0.89 O
000000 CPUO PCU | 170 55% 55x 52
000 000000x 2 0.46x 2 480 x 480 x 10
00000x 4 0.29x 4 480 x 300 x 10
OO0OO0Ox 4 0.18x 4 300 x 300 x 10
00000x 4 0.69 x 4 480 x 450 x 2
oooooooo0 0 1.42 0
oooooO0OOO0OO0OoOO0 0.18 300 x 300 x 10
ooooo 0.49 $225x 50 (OO 5)
0D000000x 4 0.25% 4 O
000 (0O00000) 2.00 O
ooooo 10.65 O
0o | 33.65 O
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Ul17-000000000

oo 0000 |ooooooo
oooo 000000000 30Hz 0 O 10Hz 0 O
oooo ooooo o000 | -3.2G + 1.8G
0000 | 101G + 1.8G
MECO oo 4.0G + 0.5G
(000D000000)| OO 11.0G + 1.0G
0 1& 0000000 41.2 00000000
x[mm] | y[mm] | z[mm] ooOoO00000O0O0OO0OO0OOOOO0
000000 | 67 | 479 | 32
000000 | 67 | -151 | 32 L=Lsx F
L,0000000000000000000000
019 0000000 000D0000F 0000000000000000
oooooooooo
Lp[kgm?] | T,[kgm?] | I.[kgm’] 00000000000000000000000
000000 | 142 1.80 1.32 Qooo0ooon
0ooooo | 243 3.09 1.70
Ts = PsAsLg(1 4+ q) cosi
P, : 00000000
4 00000 (= 4,617 x 105N /m?))
A, - 0000D00O0OOOOO0
41 00000 (= 1.0944m?))
00 703km] D00000000000,00000 L, . DOboooooooooooooodo
000000000000000000000000 (= 0.24[m})
00000000000 00000000000000 ¢ : DOODO (=06)
i . 000000

gogbooboodoobooooboobbooboboaon

gooooo

4.1.1

gpoboogood

gboooobooboooooan

oobOJoOoooooobOo0be, 00000000

_3u

T, = —us x J-ug

a3

gboooobooooooboobooog

gboooobooboboooobobooboan

gooogood

g

s

T
g a3

‘Iz -

1,00

e : 0000 (= 7078[km])

¢ : ZO0OOODOOOOOODOOOOOOoOO(@O)

(= 2.09109[rad])

gpoboboboboobobooboboobaoadao

T,=9.791x10~°Nm| 0O O O

(= 0.785(= 7/4)[rad))

0000000000000 Ts=1.372x10"5Nm] O
ooo

4.1.3 0OOO00OO00O0O

boooooboobobooooboooboaon
T,=MxB

MOOOOOOOOooooobobooooooag
oooBUO0OO0ODOODDOODDbDOODDbDUObDbDODOO
goboobooboobooboobuooboon
gooooo
T =10""MB
M : OODOOOOOOOOOOOO
(= 2000[pole- cm])
D : 0O0O0OobOogno
(= 8.1 x 10**[emul])
b : OO0OO0OO0OO0OOOO0OOOoOO
(=2D/a® = 0.45628[gauss))



000000000000 T3,=9.126x107°[Nm] 0 O
oo

4.1.4 0O0O0OO0OO

gboooobooboooooan
T,=L, x F,

L, 00000000000000D00000Db00O0OF,
gbooboooboobooooboobobobobgg
oboooooobobooooboooboaon

T, = X(F,L;)
F, : 000000000000
L; : 0000000000000000000

000000 F0 L, 000000000000000
000000ooooooooooooo L, 0 0.12[m]
gbooooooboboooog

Ta = FaLa

1
Fa = 5 pCdAV2

p OO0 703kmO00000O
(= 5.0 x 10~ *[kg/m?))

Cq good
(=2.2)

A gobooboooboon
(= 0.144[m?])

\% good

(= 7.503 x 103[m/s])
0000000000 T,=5.350x10"8[Nm] 0 000

4.1.5 0OUO0O0OO0O0OOOOOO0

g2000b0000oo0oboobobooobooon
gbooooooboboobooboobooboobooon
obooooobobooooobooon

obooooobooboobooboobooboboboooo
gboooobobooobooboboooooboaon
00000O0O0O0O0oD /200000000000
obooooooobooboooobobooooooon
gbooooood

T

2w
00 T=98.83[min|=5.930x10%s| 000000000
H=9.671x10"2Nms| 000D

H = Tmaz

4.2 0JOO0OO0OO
4.2.1 0OO0O0OO0OOO0COOO

gobbooobooobbooobboabooban
gbobobobooobooboobaabooabod
obooooboobobooooooboaoon

20

02000000

00000007, 9.791x10~¢

oooooooa T, 1.372x1076

0oooooo T, 9.126x107°

ooooo T, 5.350x10~8

0000000000 Thas | 1.025x1074
0000 [Nm|O

4.2.2 0OO00OO0O0OO0COOOO

guobbooooboboooabboobooabooo
gboboobooooboooooooboooooboo
gbooooooobooboooboboooooon
gugboobooobobbooobooobobooaooo
gobooboobooboan

gboooooogooaoo

00000000000000000000000
0000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000000000000000
(£5deg) 000 D0DOO0OO

gbobooooaoood

gbooooboboooobooboboooooo
gboobooboobooooboobobooooona
oboboobobooobooboboboboobooobo
oboooboobobooooobobooboobono
gbooooooboboobooooobobooboon
000000 (£0.2~1deg)00O0OOOOOOOOO
oboooogo

gbooooooao

oobobooooooooobbooooboooooo
obooooooobobooooobooooooooo
gbooooooboboboobooobooboong
gobooooboooooobooooooooooog
obooooboobooboboobobooboboDbo
obobooobooooooobooobooboooooDooo
gbooooooboboooobobooooog
gbooboobooboboooboobobobooboog
oboooooboobobooboobooboobobooo
(0.001~1deg) D OO O OOOOODOOOOOODOOO
gbobooobooobooboobooobooobooboo
gbooooooboboooobobooooog



obooobobobooboboboooboobooono
000000 (0.01~0.1deg) 0000000 OOOOO

021: 000000000

oo | opoo | oDoooo
0ooooo 0 0
ooooo 0o0oooo

ooooo)
oooo o 0
000000 | oOoOO0O0O0OO
oooo 0 o
ooooo ooooo 20
30000 |003000000

4.2.3 000O0OO0OOOOO

gbooooooboboboooooboboan
goboobobooboooboobooooobooboooon
obooooooobooooobobooooooooo
oboooooobooboooboboooooboooboo
gboooboobobooooobobooooooog
gbooooooobobooooobobooboooo
ooboooooobobooboboobobooboobo
obooooboobooooooooooooobooo
21000000000O00O0DOO00OO0O00ODOO0ODOO
gboooooooooboboooooboboooog
obooooboooobooboboooboobooo
obooooboobobooboooboboooogon
gboooboobobooooboooobooboooon
obooooooobobooooboboooooo
obooooboobobobooooobooooono
gboooobooboboobobobobooboooo
gbobobobooboobooobooboobooboooo
oboooooboobobooooooboobooooon
oboooooboobobooooboboooobooboon

4.3 00OO0O0O0OO

gboooobobooobooooboboooog
GpS, 000000000000 ODOOODOODOOO
obooooobooboboooboboboooo

4.3.1 0OO0O0OODO

gbooooboobobooooboooooooond
gboooboobobooooobobooooooog
oboooooooboboobooboooboobooooon

21

Joo0oOooOoooooOoOo00o0o0oOoddooooo
0000U00ooU0o0Uoo0ooooooooooo
00doooooooooooooooooooooo
DJ0oo00odooo0oooooooogoooooon
000 AEROASTRO OO Coarse Sun Sensor O O O
000000000000 000 120[deg) 00000
O00oooooooooo 220000000000
ooooooo

0 22: Coarse Sun Sensor 0 0O O

00 [deg] 120 (full-angle)
00 [deg] +5

00 [mm] $35%9.0
00 [kl 0.01
0ooag (W] 0
000D [O]] -40 ~ +93

E———

=W 7 fremy h ¥

O 44: Coarse Sun Sensor

4.3.2 0O0OO0OO0O0OO

Ooooooooooooooooooooood
go0o0o0o0O0OO0OO0OO0OO0OO0OO0OO0OO0OOOO0OOOOOO0
0000000000000 O0oO0oOooooooo-
oooooooooooooooooooooogg
000000 VECTRONIC AEROSPACE OO Star
Sensor Type VST-4IM OO OO OOO 2300000
ooooooooOo

O 23: Star Sensor Type VST-41M O O 0O

00O [arcsec,”] 18/122(x,y/z axis)
0000 [Hy 4~8
00 [deg] 14x14
00 [mm] 80x100x 180
00 [ke 1.1
0000 (W] 2.5
000000 [VDC) 9~ 18
0ooooo (O] -20 ~ 465




A

«

O 45: Star Sensor Type VST-41M

4.3.3 0O0O0O0OO

goboobooobobobobobooboaobooa
gboooboobobooooobobooooooog
gboooboobobobobooooobooboooon
gboboooboboboboboboboabon
goboobooobobooobbooobooan
gbooooboboboobobooboobooboboaong
gugboboooobobbooobbooboooboboo
Honeywell 0 0 HMR3000O ODOOOOO 240000
gbooooooboboon

O 24: HMR3000 O O O

0000 [T) 5.0x107°
(max 1.0x107%)
000 [T) 1.0x10°7
00 [mm] 38.1x107.7x22.4
00 [ke] 0.092
0000 [W] 0.175
0000 [VDC] 5.0
0ooooo (O] -20~+70

O 46: HMR3000

4.3.4 0000

gboooobooboboobobobobooboan
gdoooooboobooobooboooboboooooogogao
OO00Do0o0ooOoooooOooooOnO SYSTRON
DONNER O O QRS11-00100-1000C000000CO
boboboooooobobooboooooon
000000000000 4[deg)DO00D0OODOOODO
oboboooboooooobooobboobooooobooo

obooooobooboboobooboobobooooon
goboo20000000000000000000d
gbooooobobooooobooon

O 25: QRS11-00100-100

0000 [deg/s| +100
000 [deg/s] 0.004
00 [mm] $41.27x13.46
00 [ke] 0.060
0000 [VDC] £5
(43 regulation)
0000 [W] 0.4
oooooo (O] -40~+80

O 47: QRS11-00100-100

4.3.5 GPS

oboooooboooboooooboooooon
oboooooboboooobobooooooooon
gboooobooobobboooboboooooo
oooOo0oOoGpSOOOOOCOOOOOODOOOOO
OO0D0o0O0o0oOOo0o0ooooooOoSSTLOO
SGR-050000000 200000000

0 26: SGR-06000

0o0og [us] 1
0000 [m] 10
000000 [s] | 60(warm start)
540(cold start)
00 [mm] 70x45x10
00 [ke 0.02
0ooo [V] 5
0ooo (W] 0.5~0.8
0ooooo (O] +0~+50




4.4 0O0OO0OOO0OO0OO0OOOO

gobooboobobobobobobooboaobooa
gogbooobobooobbooobboooboaoo
gbooboobobOooboooboboooboobooobooong
gbooooobobooooobobooooooog
goboboooobbooobobooobooboanoo
gobooobobooobbooobboooboaoo
gbboboboobooobooboooooboobooon
gboobOoobooboboooooboooooooon
oboooobo3booboooooboobooooonDo

gboooobooboooobooobooboooooobooo

gbooobooooobooboboboooobooobogaon
ooogorokmd0O0000D0OOCOOOOOOOO
oboooooobooboooooboboooooooo
gboobOoboboboooboboboooooon
gbooooboooboboboooooooboooon
oobooooooooboobobobobooboooo
obooooboobobooooboobooboboon
gbooooooboboboboboooboooa
gbooooooboboon

4.4.1 0O0O0OO0OO0OODOOOO

42000000000000 H=9.651x10"2[Nms]
gooooboboobodoooooboboboboooooo
0000000000000 O0O0DOoO0oOoOoOoooO
0000000000000 0oooooooooon
gbooooboooobooooooooobooo
3000000 1mNm]000000000OO0OO0O0O
O0o00000oO0oDooogogod VECTRONIC
AEROSPACE O O Reaction Wheel Type RW- 01 O
goboobooooobbobooobuobooon
gooooooboooobuooboooooobooo
0000000000000 1000000000
O0000O00O0 1000o0oooooOoOoOoOooOooOoO0
gooodooooooobuoobooooobooo
0400000 40000000000000000O
00100000000 3003000000000
ooooo2roogoooo

O 48: Reaction Wheel Type RW- 01

23

O 27: Reaction Wheel Type RW- 0100 O

00 [mm] 115x115%86
00 [ke] 1.8
0000000 kgm? | 2.12x1073
000 [rpm] 5000
0000 [Nms| 1
00000 [mNm] 20
oooo [W] 4.0
oooooo 0] -20~+70

4.4.2 00000

OO0000O000O0O0ooO0Ono VECTRONIC
AEROSPACE O O Magnet Torquer(MTR-5) 0 0O O
ooboo 280000000000 bO30bODOoOobooan
obooboob zgUyglz2g0d00000000OOO0O
goooog

O 28: Magnet Torquer(MTR-5) 000

000000000 [Am?] 5
00 [mm] 282x43x51
00 [ke] 0.75
0ooo [V 9~14
0000 (W] 0.5

—
""“"'ﬁ

0 49: MTR-5

4.5 0O00OO000O0ObOOOOO0O040n

o2000000000b000obo00bo0o0goon
gbooooooboo

4.6 0OOOOOOODO

gbooooboboooobooboboooooon
obooooooobobooooobobobooboboog
gboooooobobooboobooboboooooon
gobobooOooooooobooooboooooooon
oboooooooboooboboooooboooboo



0290000

0o oo 00 (kg) | DOOO (W)
ooooo 0000000000000000 | 0.010 0
oooooo 0000000000000 1.1 2.5
ooooo oooooo 0.092 0.175
0000 x3 000000000 0.060x3 0.4x3

GPS 00oooOoOo0oo 0.020 0.8

0000000000 x4 ooooooo 1.8x4 4.0x4
Ooooo x3 00000O0O0O0OO0OOoOoOoO0 0.75%3 0.5%3
oooooooo

gboboogoboboooboboobooobooan
gboooooobobooboobooboobobooon
gboobooboobobooobooobobooooon
gobobboobooboaobooo

goboobooobobobobobooboaobooa
ooo

T, = M, xB

gbooobooooobobobobobooboan
oboooobooboboobooooooooobo
OMODO0OOOO0DOOOOD

Mt ]{i(h X B)

000000000000 DOLhOOOOO0O0OO
0000000415000 h=9.671x10"2Nms 0 O
oooooooooooob BOOODOOOOODOD
ooo

3sin Ay, cos Ay, cos Ny,

B = - M—? 3sin Ay, cos Ay, sinny,
a
3sin® A\, — 1
hm 00000000000 [Wbm]
(= 1.0 x 1017)
Am 00 [rad]
Tm, 00 [rad]

gbooooboobooooboobobooooo

ooooa
\/1+ 3sin®\,,

gbobobboobbobooboobboaobod
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